

SPECTRAL PROPERTIES OF k -QUASI- $*$ - n -PARANORMAL OPERATORS

JUNLI SHEN AND ALATANCANG CHEN

(Communicated by R. Curto)

Abstract. For positive integers n and k , an operator T is said to be k -quasi- $*$ - n -paranormal if $\|T^{1+n+k}x\|^{\frac{1}{1+n}} \|T^kx\|^{\frac{n}{1+n}} \geq \|T^*T^kx\|$ for all $x \in H$, which is a generalization of $*$ -paranormal operator. In this paper, we prove that the spectrum is continuous on the class of all k -quasi- $*$ - n -paranormal operators. Let λ be an isolated point of $\sigma(T)$ and E be the Riesz idempotent with respect to λ . We also prove that (1) if $\lambda \neq 0$, then E is self-adjoint and $R(E) = N(T - \lambda) = N(T - \lambda)^*$. (2) if $\lambda = 0$, then $R(E) = N(T^{k+1})$.

1. Introduction

Let $B(H)$ denote the C^* -algebra of all bounded linear operators on an infinite dimensional separable Hilbert space H . In paper [18] authors introduced the class of k -quasi- $*$ - n -paranormal operators defined as follows:

DEFINITION 1.1. For positive integers n and k , an operator T is said to be k -quasi- $*$ - n -paranormal if $\|T^{1+n+k}x\|^{\frac{1}{1+n}} \|T^kx\|^{\frac{n}{1+n}} \geq \|T^*T^kx\|$ for all $x \in H$.

A k -quasi- $*$ - n -paranormal operator for positive integers n and k is an extension of $*$ - n -paranormal operator, i.e., $\|T^{1+n}x\|^{\frac{1}{1+n}} \geq \|T^*x\|$ for unit vector x and k -quasi- $*$ -paranormal operator, i.e., $\|T^{k+2}x\| \|T^kx\| \geq \|T^*T^kx\|^2$ for all $x \in H$. A $*$ -1-paranormal operator is called a $*$ -paranormal operator and a 1-quasi- $*$ -paranormal operator is called a quasi- $*$ -paranormal operator. It is known that quasi- $*$ -paranormal operator is normaloid [10], i.e., $\|T^n\| = \|T\|^n$, for $n \in \mathbb{N}$ (equivalently, $\|T\| = r(T)$, the spectral radius of T). $*$ -paranormal operator and quasi- $*$ -paranormal operator have been studied by many authors and it is known that they have many interesting properties similar to those of hyponormal operators (see [5, 9, 13]).

It is clear that

$$* \text{-}n\text{-paranormal} \Rightarrow \text{quasi-} * \text{-}n\text{-paranormal} \Rightarrow \text{normaloid}$$

Mathematics subject classification (2010): Primary 47B20; Secondary 47A10.

Keywords and phrases: k -quasi- $*$ - n -paranormal operator, spectral continuity, Riesz idempotent.

and

$$\begin{aligned} \text{quasi-} * \text{-} n \text{-paranormal} &\Rightarrow k\text{-quasi-} * \text{-} n \text{-paranormal} \\ &\Rightarrow (k + 1)\text{-quasi-} * \text{-} n \text{-paranormal}. \end{aligned}$$

EXAMPLE 1.1. Given a bounded sequence of positive numbers $\alpha : \alpha_1, \alpha_2, \alpha_3, \dots$ (called weights), the unilateral weighted shift W_α associated with α is the operator on l_2 defined by $W_\alpha e_n = \alpha_n e_{n+1}$ for all $n \geq 1$, where $\{e_n\}_{n=1}^\infty$ is the canonical orthogonal basis for l_2 . Straightforward calculations show that W_α is a k -quasi- $*-n$ -paranormal operator if and only if

$$W_\alpha = \begin{pmatrix} 0 & 0 & 0 & 0 & 0 & \dots \\ \alpha_1 & 0 & 0 & 0 & 0 & \dots \\ 0 & \alpha_2 & 0 & 0 & 0 & \dots \\ 0 & 0 & \alpha_3 & 0 & 0 & \dots \\ 0 & 0 & 0 & \alpha_4 & 0 & \dots \\ \dots & \dots & \dots & \dots & \dots & \dots \end{pmatrix},$$

where

$$(\alpha_{i+1+n} \alpha_{i+n} \cdots \alpha_{i+2} \alpha_{i+1})^{\frac{1}{1+n}} \geq \alpha_i \quad (i = k, k + 1, k + 2, \dots).$$

Now it is natural to ask whether k -quasi- $*-n$ -paranormal operators are normaloid or not. For $k > 1$, an answer has been given: there exists a nilpotent operator which is a k -quasi- $*-n$ -paranormal operator. But it need not be normaloid.

In section 2, we give a necessary and sufficient condition for T to be a k -quasi- $*-n$ -paranormal operator. In section 3, we prove that the spectrum is continuous on the class of all k -quasi- $*-n$ -paranormal operators. In section 4, we study the Riesz idempotent of k -quasi- $*-n$ -paranormal operators.

2. k -quasi- $*-n$ -paranormal operators

In the sequel, we shall write $N(T)$ and $R(T)$ for the null space and range space of T , respectively.

LEMMA 2.1. [18] T is a k -quasi- $*-n$ -paranormal operator if and only if

$$T^{*1+n+k} T^{1+n+k} - (n + 1) \lambda^n T^{*k} T T^* T^k + n \lambda^{1+n} T^{*k} T^k \geq 0 \text{ for any } \lambda > 0.$$

THEOREM 2.2. If T does not have a dense range, then the following statements are equivalent:

(1) T is a k -quasi- $*-n$ -paranormal operator;

(2) $T = \begin{pmatrix} T_1 & T_2 \\ 0 & T_3 \end{pmatrix}$ on $H = \overline{R(T^k)} \oplus N(T^{*k})$, where $T_1^{*1+n} T_1^{1+n} - (1+n) \lambda^n (T_1 T_1^* + T_2 T_2^*) + n \lambda^{1+n} \geq 0$ for all $\lambda > 0$ and $T_3^k = 0$. Furthermore, $\sigma(T) = \sigma(T_1) \cup \{0\}$.

Proof. (1) \Rightarrow (2) Consider the matrix representation of T with respect to the decomposition $H = \overline{R(T^k)} \oplus N(T^{*k})$:

$$T = \begin{pmatrix} T_1 & T_2 \\ 0 & T_3 \end{pmatrix}.$$

Let P be the projection onto $\overline{R(T^k)}$. Since T is a k -quasi- $*$ - n -paranormal operator, we have

$$P(T^{*1+n}T^{1+n} - (1+n)\lambda^n T T^* + n\lambda^{1+n})P \geq 0 \text{ for all } \lambda > 0.$$

Therefore

$$T_1^{*1+n}T_1^{1+n} - (1+n)\lambda^n(T_1T_1^* + T_2T_2^*) + n\lambda^{1+n} \geq 0 \text{ for all } \lambda > 0.$$

On the other hand, for any $x = (x_1, x_2) \in H$, we have

$$(T_3^k x_2, x_2) = (T^k(I - P)x, (I - P)x) = ((I - P)x, T^{*k}(I - P)x) = 0,$$

which implies $T_3^k = 0$.

Since $\sigma(T) \cup M = \sigma(T_1) \cup \sigma(T_3)$, where M is the union of the holes in $\sigma(T)$ which happens to be subset of $\sigma(T_1) \cap \sigma(T_3)$ by Corollary 7 of [8], and $\sigma(T_1) \cap \sigma(T_3)$ has no interior point and T_3 is nilpotent, we have $\sigma(T) = \sigma(T_1) \cup \{0\}$.

(2) \Rightarrow (1) Suppose that $T = \begin{pmatrix} T_1 & T_2 \\ 0 & T_3 \end{pmatrix}$ on $H = \overline{R(T^k)} \oplus N(T^{*k})$, where $T_1^{*1+n}T_1^{1+n} - (1+n)\lambda^n(T_1T_1^* + T_2T_2^*) + n\lambda^{1+n} \geq 0$ for all $\lambda > 0$ and $T_3^k = 0$. Since

$$T^k = \begin{pmatrix} T_1^k & \sum_{j=0}^{k-1} T_1^j T_2 T_3^{k-1-j} \\ 0 & 0 \end{pmatrix},$$

we have

$$\begin{aligned} & T^{*k}(T^{*1+n}T^{1+n} - (1+n)\lambda^n T T^* + n\lambda^{1+n})T^k \\ &= \begin{pmatrix} T_1 & T_2 \\ 0 & T_3 \end{pmatrix}^{*k} \\ & \times \left(\begin{pmatrix} T_1 & T_2 \\ 0 & T_3 \end{pmatrix}^{*1+n} \begin{pmatrix} T_1 & T_2 \\ 0 & T_3 \end{pmatrix}^{1+n} - (1+n)\lambda^n \begin{pmatrix} T_1 & T_2 \\ 0 & T_3 \end{pmatrix} \begin{pmatrix} T_1 & T_2 \\ 0 & T_3 \end{pmatrix}^* + n\lambda^{1+n} \right) \\ & \times \begin{pmatrix} T_1 & T_2 \\ 0 & T_3 \end{pmatrix}^k \\ &= \begin{pmatrix} T_1^{*k} & 0 \\ \left(\sum_{j=0}^{k-1} T_1^j T_2 T_3^{k-1-j}\right)^* & 0 \end{pmatrix} \begin{pmatrix} D & C \\ C^* & F \end{pmatrix} \begin{pmatrix} T_1^k & \sum_{j=0}^{k-1} T_1^j T_2 T_3^{k-1-j} \\ 0 & 0 \end{pmatrix} \\ &= \begin{pmatrix} T_1^{*k} D T_1^k & T_1^{*k} D \sum_{j=0}^{k-1} T_1^j T_2 T_3^{k-1-j} \\ \left(\sum_{j=0}^{k-1} T_1^j T_2 T_3^{k-1-j}\right)^* D T_1^k & \left(\sum_{j=0}^{k-1} T_1^j T_2 T_3^{k-1-j}\right)^* D \sum_{j=0}^{k-1} T_1^j T_2 T_3^{k-1-j} \end{pmatrix} \end{aligned}$$

where $D = T_1^{*1+n}T_1^{1+n} - (1+n)\lambda^n(T_1T_1^* + T_2T_2^*) + n\lambda^{1+n}$,

$$F = \left(\sum_{j=0}^n T_1^j T_2 T_3^{n-j}\right)^* \sum_{j=0}^n T_1^j T_2 T_3^{n-j} + T_3^{*1+n}T_3^{1+n} - (1+n)\lambda^n T_3 T_3^* + n\lambda^{1+n},$$

$$C = T_1^{*1+n} \sum_{j=0}^n T_1^j T_2 T_3^{n-j} - (1+n)\lambda^n T_2 T_3^*.$$

Let $\lambda > 0$ be arbitrary and $v = x \oplus y$ be a vector in $H = \overline{R(T^k)} \oplus N(T^{*k})$, where $x \in \overline{R(T^k)}$ and $y \in N(T^{*k})$. Then

$$\begin{aligned} & (T^{*k}(T^{*1+n}T^{1+n} - (1+n)\lambda^n T T^* + n\lambda^{1+n})T^k v, v) \\ &= (T_1^{*k} D T_1^k x, x) + (T_1^{*k} D y, x) + \left(\sum_{j=0}^{k-1} T_1^j T_2 T_3^{k-1-j}\right)^* D T_1^k x, y) \\ &+ \left(\left(\sum_{j=0}^{k-1} T_1^j T_2 T_3^{k-1-j}\right)^* D \sum_{j=0}^{k-1} T_1^j T_2 T_3^{k-1-j} y, y\right) \\ &= (D(T_1^k x + \sum_{j=0}^{k-1} T_1^j T_2 T_3^{k-1-j} y), (T_1^k x + \sum_{j=0}^{k-1} T_1^j T_2 T_3^{k-1-j} y)). \end{aligned}$$

Since

$$D = T_1^{*1+n}T_1^{1+n} - (1+n)\lambda^n(T_1T_1^* + T_2T_2^*) + n\lambda^{1+n} \geq 0 \text{ for all } \lambda > 0,$$

$$(T^{*k}(T^{*1+n}T^{1+n} - (1+n)\lambda^n T T^* + n\lambda^{1+n})T^k v, v) \geq 0 \text{ for all } v \in H,$$

hence

$$T^{*k}(T^{*1+n}T^{1+n} - (1+n)\lambda^n T T^* + n\lambda^{1+n})T^k \geq 0 \text{ for all } \lambda > 0.$$

Thus T is a k -quasi- $*$ - n -paranormal operator. \square

COROLLARY 2.3. *If T is a k -quasi- $*$ - n -paranormal operator and $R(T^k)$ is not dense, then*

$$T = \begin{pmatrix} T_1 & T_2 \\ 0 & T_3 \end{pmatrix} \text{ on } H = \overline{R(T^k)} \oplus N(T^{*k}),$$

where T_1 is a $*$ - n -paranormal operator on $\overline{R(T^k)}$ and $T_3^k = 0$.

COROLLARY 2.4. *If T is a k -quasi- $*$ - n -paranormal operator and $R(T^k)$ is dense, then T is a $*$ - n -paranormal operator.*

COROLLARY 2.5. *If T is a k -quasi- $*$ - n -paranormal operator, $0 \neq \lambda \in \sigma_p(T)$ and T is of the form $T = \begin{pmatrix} \lambda & A \\ 0 & B \end{pmatrix}$ on $H = N(T - \lambda) \oplus N(T - \lambda)^\perp$, then $A = 0$.*

Proof. Let E be the orthogonal projection onto $N(T - \lambda)$. Without loss of generality, assume that $\lambda = 1$. Since T is a k -quasi- $*$ - n -paranormal operator, T satisfies

$$T^{*k}(T^{*1+n}T^{1+n} - (1+n)\lambda^n TT^* + n\lambda^{1+n})T^k \geq 0 \text{ for all } \lambda > 0.$$

Taking $\lambda = 1$, we have

$$E(T^{*1+n+k}T^{1+n+k} - (1+n)T^{*k}TT^*T^k + nT^{*k}T^k)E \geq 0.$$

We remark

$$E(T^{*1+n+k}T^{1+n+k})E = \begin{pmatrix} 1 & 0 \\ 0 & 0 \end{pmatrix},$$

$$E(T^{*k}TT^*T^k)E = \begin{pmatrix} 1 + AA^* & 0 \\ 0 & 0 \end{pmatrix}$$

and

$$ET^{*k}T^kE = \begin{pmatrix} 1 & 0 \\ 0 & 0 \end{pmatrix}.$$

Thus

$$\begin{pmatrix} -(n+1)AA^* & 0 \\ 0 & 0 \end{pmatrix} \geq 0.$$

Hence $A = 0$. \square

COROLLARY 2.6. *If T is a k -quasi- $*$ - n -paranormal operator and $\lambda \neq 0$, then $Tx = \lambda x$ implies $T^*x = \lambda x$.*

Proof. It follows from Corollary 2.5. \square

The following example provides an operator T which is a k -quasi- $*$ - n -paranormal operator, however, the relation $N(T) \subseteq N(T^*)$ does not hold.

EXAMPLE 2.7. [13] Let $A = \begin{pmatrix} 1 & 0 \\ 0 & 0 \end{pmatrix}$ $B = \begin{pmatrix} 1 & 1 \\ 1 & 1 \end{pmatrix}$ be operators on \mathbb{R}^2 , and let $H_n = \mathbb{R}^2$ for all positive integers n . Consider the operator $T_{A,B}$ on $\bigoplus_{n=1}^{+\infty} H_n$ defined by

$$T_{A,B} = \begin{pmatrix} 0 & 0 & 0 & 0 & 0 & 0 & \cdots \\ A & 0 & 0 & 0 & 0 & 0 & \cdots \\ 0 & B & 0 & 0 & 0 & 0 & \cdots \\ 0 & 0 & B & 0 & 0 & 0 & \cdots \\ 0 & 0 & 0 & B & 0 & 0 & \cdots \\ 0 & 0 & 0 & 0 & B & 0 & \cdots \\ \vdots & \vdots & \vdots & \vdots & \vdots & \vdots & \ddots \end{pmatrix}.$$

Then $T_{A,B}$ is a quasi- $*$ -paranormal operator, hence $T_{A,B}$ is a k -quasi- $*$ -paranormal operator, however for the vector $x = (0, 0, 1, -1, 0, 0, \dots)$, $T_{A,B}(x) = 0$, but $T_{A,B}^*(x) \neq 0$. Therefore, the relation $N(T_{A,B}) \subseteq N(T_{A,B}^*)$ does not always hold.

3. The spectral continuity of k -quasi- $*$ - n -paranormal operators

For every $T \in B(H)$, $\sigma(T)$ is a compact subset of \mathbb{C} . The function σ viewed as a function from $B(H)$ into the set of all compact subsets of \mathbb{C} , equipped with the Hausdorff metric, is well known to be upper semi-continuous, but fails to be continuous in general. Conway and Morrel [2] have carried out a detailed study of spectral continuity in $B(H)$. Recently, it has been proved that the spectrum is continuous in the set of normal operators and hyponormal operators in [7]. And this result has been extended to quasihyponormal operators by Djordjević in [3], to p -hyponormal operators by Hwang and Lee in [11], and to (p, k) -quasihyponormal, M -hyponormal, $*$ -paranormal and paranormal operators by Duggal, Jeon and Kim in [4]. In this section we extend this result to k -quasi- $*$ - n -paranormal operators.

LEMMA 3.1. *Let T be a k -quasi- $*$ - n -paranormal operator. Then the following assertions hold:*

(1) *If T is quasinilpotent, then $T^{k+1} = 0$.*

(2) *For every non-zero $\lambda \in \sigma_p(T)$, the matrix representation of T with respect to the decomposition $H = N(T - \lambda) \oplus (N(T - \lambda))^\perp$ is: $T = \begin{pmatrix} \lambda & 0 \\ 0 & B \end{pmatrix}$ for some operator B satisfying $\lambda \notin \sigma_p(B)$ and $\sigma(T) = \{\lambda\} \cup \sigma(B)$.*

Proof. (1) Suppose T is a k -quasi- $*$ - n -paranormal operator. If $R(T^k)$ is dense, then T is a $*$ - n -paranormal operator, which leads to that T is normaloid, hence $T = 0$. If $R(T^k)$ is not dense, then

$$T = \begin{pmatrix} T_1 & T_2 \\ 0 & T_3 \end{pmatrix} \text{ on } H = \overline{R(T^k)} \oplus N(T^{*k})$$

where T_1 is a $*$ - n -paranormal operator, $T_3^k = 0$ and $\sigma(T) = \sigma(T_1) \cup \{0\}$ by Theorem 2.2. Since $\sigma(T_1) = \{0\}$, $T_1 = 0$. Thus

$$T^{k+1} = \begin{pmatrix} 0 & T_2 \\ 0 & T_3 \end{pmatrix}^{k+1} = \begin{pmatrix} 0 & T_2 T_3^k \\ 0 & T_3^{k+1} \end{pmatrix} = 0.$$

(2) If $\lambda \neq 0$ and $\lambda \in \sigma_p(T)$, we have that $N(T - \lambda)$ reduces T by Corollary 2.5.

So we have that $T = \begin{pmatrix} \lambda & 0 \\ 0 & B \end{pmatrix}$ on $H = N(T - \lambda) \oplus (N(T - \lambda))^\perp$ for some operator B satisfying $\lambda \notin \sigma_p(B)$ and $\sigma(T) = \{\lambda\} \cup \sigma(B)$. \square

LEMMA 3.2. [1] *Let H be a complex Hilbert space. Then there exists a Hilbert space K such that $H \subset K$ and a map $\varphi : B(H) \rightarrow B(K)$ such that*

- (1) φ is a faithful $*$ -representation of the algebra $B(H)$ on K ;
- (2) $\varphi(A) \geq 0$ for any $A \geq 0$ in $B(H)$;
- (3) $\sigma_a(T) = \sigma_a(\varphi(T)) = \sigma_p(\varphi(T))$ for any $T \in B(H)$.

THEOREM 3.3. *The spectrum σ is continuous on the set of k -quasi- $*$ - n -paranormal operators.*

Proof. Suppose T is a k -quasi- $*$ - n -paranormal operator. Let $\varphi: B(H) \rightarrow B(K)$ be Berberian’s faithful $*$ -representation of Lemma 3.2. In the following, we shall show that $\varphi(T)$ is also a k -quasi- $*$ - n -paranormal operator. In fact, since T is a k -quasi- $*$ - n -paranormal operator, we have

$$T^{*k}(T^{*1+n}T^{1+n} - (1+n)\lambda^n TT^* + n\lambda^{1+n})T^k \geq 0 \text{ for all } \lambda > 0.$$

Hence we have

$$\begin{aligned} & \varphi(T)^{*k}(\varphi(T)^{*1+n}\varphi(T)^{1+n} - (1+n)\lambda^n\varphi(T)\varphi(T)^* + n\lambda^{1+n})\varphi(T)^k \\ &= \varphi(T^{*k}(T^{*1+n}T^{1+n} - (1+n)\lambda^n TT^* + n\lambda^{1+n})T^k) \text{ by Lemma 3.2} \\ &\geq 0 \text{ by Lemma 3.2,} \end{aligned}$$

so $\varphi(T)$ is also a k -quasi- $*$ - n -paranormal operator. By Lemma 3.1, we have T belongs to the set $C(i)$ (see definition in [4]). Therefore, we have that the spectrum σ is continuous on the set of k -quasi- $*$ - n -paranormal operators by [4, Theorem 1.1]. \square

4. Isolated point of spectrum of k -quasi- $*$ - n -paranormal operator

Let λ be an isolated point of the spectrum of T . Then the Riesz idempotent E of T with respect to λ is defined by

$$E = \frac{1}{2\pi i} \int_{\partial D} (\mu - T)^{-1} d\mu,$$

where D is a closed disk centered at λ which contains no other points of the spectrum of T . Stampfli [14] showed that if T is hyponormal, then E is self-adjoint and $R(E) = N(T - \lambda) = N(T - \lambda)^*$. Recently, Tanahashi and Uchiyama [16] obtained Stampfli’s result for $*$ -paranormal operators. We shall show that for every k -quasi- $*$ - n -paranormal operator T and each isolated point λ of $\sigma(T)$, the Riesz idempotent E satisfies that

$$\begin{aligned} R(E) &= N(T^{k+1}) \text{ if } \lambda = 0, \\ R(E) &= N(T - \lambda) = N(T - \lambda)^* \text{ and } E \text{ is self-adjoint if } \lambda \neq 0. \end{aligned}$$

LEMMA 4.1. *Let T be a $*$ - n -paranormal operator, λ be an isolated point of $\sigma(T)$ and E be the Riesz idempotent with respect to λ . Then $R(E) = N(T - \lambda)$.*

Proof. Recall from [12, Proposition 4.8] that if T is a $*$ - n -paranormal operator, then T is a $(n + 1)$ -paranormal operator, i.e., $\|T^{2+n}x\|^{\frac{1}{2+n}} \geq \|Tx\|$ for unit vector x . [16, Theorem 2] implies $R(E) = N(T - \lambda)$. \square

THEOREM 4.2. *Let T be a k -quasi- $*$ - n -paranormal operator, λ be an isolated point of $\sigma(T)$ and E be the Riesz idempotent with respect to λ . Then the following assertions hold.*

- (1) *if $\lambda \neq 0$, then E is self-adjoint and $R(E) = N(T - \lambda) = N(T - \lambda)^*$.*
- (2) *if $\lambda = 0$, then $R(E) = N(T^{k+1})$.*

Proof. If $\lambda \neq 0$, assume that $R(T^k)$ is dense. Then T is a $*$ - n -paranormal operator and $R(E) = N(T - \lambda)$ by Lemma 4.1. So we may assume that T^k does not have dense range. Then by Theorem 2.2 the operator T can be decomposed as follows:

$$T = \begin{pmatrix} T_1 & T_2 \\ 0 & T_3 \end{pmatrix} \text{ on } H = \overline{R(T^k)} \oplus N(T^{*k}),$$

where T_1 is a $*$ - n -paranormal operator on $\overline{R(T^k)}$. Now if λ is a non-zero isolated point of $\sigma(T)$, then $\lambda \in \text{iso } \sigma(T_1)$ because $\sigma(T) = \sigma(T_1) \cup \{0\}$. Therefore λ is a simple pole of the resolvent of T_1 and the $*$ - n -paranormal operator T_1 can be written as follows:

$$T_1 = \begin{pmatrix} T_{11} & 0 \\ 0 & T_{12} \end{pmatrix} \text{ on } \overline{R(T^k)} = N(T_1 - \lambda) \oplus \overline{R(T_1 - \lambda)},$$

where $\sigma(T_{11}) = \{\lambda\}$. Therefore

$$T - \lambda = \begin{pmatrix} 0 & 0 & T_{21} \\ 0 & T_{12} - \lambda & T_{22} \\ 0 & 0 & T_3 - \lambda \end{pmatrix} = \begin{pmatrix} 0 & G \\ 0 & M \end{pmatrix}$$

on

$$H = N(T_1 - \lambda) \oplus \overline{R(T_1 - \lambda)} \oplus N(T^{*k}),$$

where

$$M = \begin{pmatrix} T_{12} - \lambda & T_{22} \\ 0 & T_3 - \lambda \end{pmatrix}.$$

Now, we claim that M is an invertible operator on $\overline{R(T_1 - \lambda)} \oplus N(T^{*k})$. First we verify that $T_{12} - \lambda$ is invertible. If not, then λ will be an isolated point in $\sigma(T_{12})$. Since T_{12} is $*$ - n -paranormal, λ is an eigenvalue of T_{12} and thus $T_{12}x = \lambda x$ for some non-zero vector x in $\overline{R(T_1 - \lambda)}$. On the other hand, $T_1x = T_{12}x$ implying x is in $N(T_1 - \lambda)$. Hence x must be a zero vector. This contradiction shows that $T_{12} - \lambda$ is invertible. Since $T_3 - \lambda$ is also invertible, it follows that M is invertible. It is easy to show that $R(E) = N(T - \lambda)$.

We prove $N(T - \lambda) = N(T - \lambda)^*$. Since $N(T - \lambda) \subseteq N(T - \lambda)^*$ by Corollary 2.6, it suffices to show that $N(T - \lambda)^* \subseteq N(T - \lambda)$. Let $x = \begin{pmatrix} x_1 \\ x_2 \end{pmatrix} \in N(T - \lambda)^*$. Then

$$\begin{aligned} 0 &= (T - \lambda)^*x = \begin{pmatrix} (T_1 - \lambda)^* & 0 \\ T_2^* & (T_3 - \lambda)^* \end{pmatrix} \begin{pmatrix} x_1 \\ x_2 \end{pmatrix} \\ &= \begin{pmatrix} (T_1 - \lambda)^*x_1 \\ T_2^*x_1 + (T_3 - \lambda)^*x_2 \end{pmatrix}. \end{aligned}$$

Hence $x_1 \in N(T_1 - \lambda)^* = N(T_1 - \lambda)$. Since

$$(T - \lambda) \begin{pmatrix} x_1 \\ 0 \end{pmatrix} = \begin{pmatrix} T_1 - \lambda & T_2 \\ 0 & T_3 - \lambda \end{pmatrix} \begin{pmatrix} x_1 \\ 0 \end{pmatrix} = \begin{pmatrix} (T_1 - \lambda)x_1 \\ 0 \end{pmatrix} = 0,$$

we have

$$0 = (T - \lambda)^* \begin{pmatrix} x_1 \\ 0 \end{pmatrix} = \begin{pmatrix} (T_1 - \lambda)^*x_1 \\ T_2^*x_1 \end{pmatrix}$$

by Corollary 2.6, hence $T_2^*x_1 = 0$. This implies $(T_3 - \lambda)^*x_2 = 0$ and $x_2 = 0$ because T_3 is nilpotent. Thus

$$x = \begin{pmatrix} x_1 \\ 0 \end{pmatrix} \in N(T_1 - \lambda) \oplus \{0\} = N(T - \lambda).$$

Next, we show that E is self-adjoint. Since E is the Riesz idempotent of T with respect to λ and T is a k -quasi- $*$ - n -paranormal operator, $R(E) = N(T - \lambda)$ and $N(E) = R(T - \lambda)$. Since $N(T - \lambda) \subseteq N(T - \lambda)^*$ by Corollary 2.6, then $N(T - \lambda)$ and $R(T - \lambda)$ are orthogonal. Hence $R(E)^\perp = N(E)$, and so E is self-adjoint.

If $\lambda = 0$, $\sigma(T|_{R(E)}) = 0$, then $(T|_{R(E)})^{k+1} = 0$ by Lemma 3.1, hence $R(E) = N(T^{k+1})$. \square

Acknowledgement. We wish to thank the referees for careful reading and valuable comments for the origin draft. This research is supported by the Natural Science Foundation of the Department of Education of Henan Province(16A110033) and Doctoral Foundation of Henan Normal University (qd15133).

REFERENCES

- [1] S. K. BERBERIAN, *Approximate proper vectors*, Proc. Amer. Math. Soc., **13** (1962), 111–114.
- [2] J. B. CONWAY, B. B. MORREL, *Operators that are points of spectral continuity*, Integr. Equ. Oper. Theory, **2** (1979), 174–198.
- [3] S. V. DJORDJEVIĆ, *Continuity of the essential spectrum in the class of quasihyponormal operators*, Vesnik Math., **50** (1998), 71–74.
- [4] B. P. DUGGAL, I. H. JEON AND I. H. KIM, *Continuity of the spectrum on a class of upper triangular operator matrices*, J. Math. Anal. Appl., **370** (2010), 584–587.
- [5] B. P. DUGGAL, I. H. JEON AND I. H. KIM, *On $*$ -paranormal contractions and properties for $*$ -class A operators*, Linear Algebra Appl., **436** (2012), 954–962.
- [6] I. H. JEON, I. H. KIM, *On operators satisfying $T^*|T^2|T \geq T^*|T|^2T$* , Linear Algebra Appl., **418** (2006), 854–862.
- [7] P. R. HALMOS, *A Hilbert Space Problem Book*, Springer-Verlag, New York, 1982.
- [8] J. K. HAN, H. Y. LEE, *Invertible completions of 2×2 upper triangular operator matrices*, Proc. Amer. Math. Soc., **128** (1999), 119–123.
- [9] Y. M. HAN, A. H. KIM, *A note on $*$ -paranormal operators*, Integr. Equ. Oper. Theory, **49** (4) (2004), 435–444.
- [10] S. MECHERI, *On a new class of operators and Weyl type theorems*, Filomat, **27** (2013), 629–636.
- [11] I. S. HWANG, W. Y. LEE, *The spectrum is continuous on the set of p -hyponormal operators*, Math. Z., **235** (2000), 151–157.
- [12] P. PAGACZ, *On Wold-type decomposition*, Linear Algebra Appl., **436** (2012), 3605–3071.
- [13] J. L. SHEN, A. CHEN, *The spectrum properties of quasi- $*$ -paranormal operators*, Chinese Annals of Math. (in Chinese), **34** (6) (2013), 663–670.

- [14] J. STAMPFLI, *Hyponormal operators and spectral density*, Trans. Amer. Math. Soc., **117** (1965), 469–476.
- [15] K. TANAHASHI, I. H. JEON, I. H. KIM AND A. UCHIYAMA, *Quasinilpotent part of class A or (p, k) -quasihyponormal operators*, Operator Theory, Advances and Applications, **187** (2008), 199–210.
- [16] K. TANAHASHI, A. UCHIYAMA, *A note on $*$ -paranormal operators and related classes of operators*, Bull. Korean Math. Soc., **51** (2) (2014), 357–371.
- [17] D. XIA, *Spectral Theory of Hyponormal Operators*, Birkhauser Verlag, Basel, Boston, 1983.
- [18] Q. P. ZENG, H. J. ZHONG, *On (n, k) -quasi- $*$ -paranormal operators*, Bull. Malays. Math. Sci. Soc. (2015), doi:10.1007/s40840-015-0119-z.

(Received January 6, 2015)

Junli Shen
College of Computer and Information Technology
Henan Normal University
Xinxiang 453007, People's Republic of China
e-mail: shenjunli08@126.com

Alatancaog Chen
School of Mathematical Science
Inner Mongolia University
Hohhot 010021, People's Republic of China
e-mail: alatanca@imu.edu.cn